MANTECA DOG PARK & GOLF COURSE ENTRY SIGN PROJECT Engineers Estimate \$215,000.00 July 14, 2016 F. LODUCA CO. - STOCKTON. CA.

TEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	Mobilization, Submittals, Bonds, Licenses, Permits, etc	1	LS	\$25,000.00	\$25,000.00
2	Erosion Control	1	LS	\$1,000.00	\$1,000.00
3	Surveying & Construction Staking	1	LS	\$2,500.00	\$2,500.00
4	Clearing & Grubbing - Planter area	2,705	SF	\$3.15	\$8,520.75
5	Soil prep, Amendments & Grading - Planter area	2,705	SF	\$1.00	\$2,705.00
6	Natural Grey, Broom Finish Concrete Flatwork	4,810	SF	\$7.75	\$37,277.50
7	Yellow Truncated Domes	4	EA	\$300.00	\$1,200.00
8	Accessible Ramp - Eucalyptus St.	1	EA	\$3,500.00	\$3,500.00
9	Accessible Ramp - Parking Lot	1	EA	\$3,500.00	\$3,500.00
10	Accessible Striping, Curb Paint & Signage	1	LS	\$2,800.00	\$2,800.00
11	Concrete Wheel Stops	2	EA	\$150.00	\$300.00
12	Asphalt Patching & Repair	1	LS	\$1,000.00	\$1,000.00
13	Brick Pavers	30	SF	\$75.00	\$2,250.00
14	12" Wide Concrete Mow Strip	570	LF	\$18.00	\$10,260.00
	6" Wide Concrete Mow Strip	110	LS	\$20.00	\$2,200.00
16	4" - 8" Cobble Rock	460	SF	\$3.00	\$1,380.00
17	Landscape Irrigation & Valve in Planter Area, QC & Lines	1	LS	\$10,000.00	\$10,000.00
18	Water Connections at Existing Backflow	1	EA	\$500.00	\$500.00
19	3/4" Backflow, Pad, Enclosure & Frost Blanket	1	EA	\$3,500.00	\$3,500.00
20	1" Backflow, Pad, Enclosure & Frost Blanket	1	EA	\$4,000.00	\$4,000.00
21	Drinking Fountain w/ Pet Bowl, Drain, Sump, Lines, etc.	1	EA	\$12,000.00	\$12,000.00
	5' Tall Vinyl Chain Link Fencing	126	LF	\$44.00	\$5,544.00
	5' Tall Galvanized Chain Link Fencing	574	LF	\$27.00	\$15,498.00
	5' Tall Chain Link Service Gates	1	EA	\$1,031.00	\$1,031.00
	4' Tall Galvanized Removable Chain Link Fencing	130	LF	\$118.00	\$15,340.00
26	4' Tall Galv. Removable Chain Link Service Gates	1	EA	\$2,112.00	\$2,112.00
27	5' Tall Custom Pedestrian Entry Gate with Doghouse	1	EA	\$5,660.00	\$5,660.00
	5' Tall Vinyl Chain Link Pedestrian Gates	3	EA	\$1,229.00	\$3,687.00
29	Custom Corten Steek Entrance Sign	1	EA	\$8,500.00	\$8,500.00
30	Park Rules Sign	1	EA	\$1,220.00	\$1,220.00
31	Bulletin Board	1	EA	\$1,500.00	\$1,500.00
32	Benches - Dog Bone Shape	5	EA	\$1,440.00	\$7,200.00
33	Trash Receptacle	2	EA	\$1,150.00	\$2,300.00
34	Pet Waste Station	5	EA	\$600.00	\$3,000.00
35	Light Relocation	1	EA	\$2,000.00	\$2,000.00
36	15 Gallon Tree	10	EA	\$380.00	\$3,800.00
-	1 Gallon Shrubs/Groundcovers	194	EA	\$18.00	\$3,492.00
-	3" Layer Decorative Bark & Pre- Emergent Herbicide	2,705	SF	\$1.15	\$3,110.75
	Sod Turf Repair	1	LS	\$5,000.00	\$5,000.00
OTAL	BASE BID ITEMS 1 - 39				\$225,388.00

	ALTERNA	TE BID ITE	M 1		
NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
	Golf Entrance Sign Footing & Installation	1	LS	\$6,000.00	\$6,000.00
	ADDITIVE BID ITEMS ALTERNATE 1				\$6,000.00
TOTAL	BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 1				\$231,388.00

	ALTE	RNATE BID ITE	EM 2		
NO.	ITEM DESCRIPTION	BID	UNIT	UNIT	TOTAL
2	Sandblast and Stained Paw Prints in Concrete	13	EA	\$385.00	\$5,005.00
CONTROL OF THE PARTY AND	ADDITIVE BID ITEMS ALTERNATE 1 and BID ITEMS.				\$11,005.00
TOTA	BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 1 and 2				\$236 393 00

-	ALTEI	RNATE BID ITE	EM 3		
NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
	Dog Agility Items	1	LS	\$7,600.00	\$7,600.00
All property and the last	ADDITIVE BID ITEMS ALTERNATE 1,2 and 3				\$18,605.00
OTAL	BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 3				\$243,993.00

MANTECA DOG PARK & GOLF COURSE ENTRY SIGN PROJECT

Engineers Estimate \$215,000.00 July 14, 2016

BARHAM/R7	CONSTRUCTION	CEDES	CA
DAKHAIVIIDL	CONSTRUCTION	- CERES.	CA.

TEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	Mobilization, Submittals, Bonds, Licenses, Permits, etc	1	LS	\$10,064.94	\$10,064.94
2	Erosion Control	1	LS	\$3,919.85	\$3,919.85
3	Surveying & Construction Staking	1	LS	\$2,884.20	\$2,884.20
4	Clearing & Grubbing - Planter area	2,705	SF	\$4.09	\$11,063.45
5	Soil prep, Amendments & Grading - Planter area	2,705	SF	\$0.85	\$2,299.25
6	Natural Grey, Broom Finish Concrete Flatwork	4,810	SF	\$9.00	\$43,290.00
7	Yellow Truncated Domes	4	EA	\$484.29	\$1,937.16
8	Accessible Ramp - Eucalyptus St.	1	EA	\$2,422.73	\$2,422.73
9	Accessible Ramp - Parking Lot	1	EA	\$3,781.15	\$3,781.15
10	Accessible Striping, Curb Paint & Signage	1	LS	\$1,384.42	\$1,384.42
11	Concrete Wheel Stops	2	EA	\$166.87	\$333.74
12	Asphalt Patching & Repair	1	LS	\$692.21	\$692.21
13	Brick Pavers	30	SF	\$28.84	\$865.20
14	12" Wide Concrete Mow Strip	570	LF	\$24.99	\$14,244.30
15	6" Wide Concrete Mow Strip	110	LS	\$25.67	\$2,823.70
16	4" - 8" Cobble Rock	460	SF	\$12.38	\$5,694.80
17	Landscape Irrigation & Valve in Planter Area, QC & Lines	1	LS	\$6,460.62	\$6,460.62
18	Water Connections at Existing Backflow	1	EA	\$1,730.52	\$1,730.52
19	3/4" Backflow, Pad, Enclosure & Frost Blanket	1	EA	\$2,739.99	\$2,739.99
20	1" Backflow, Pad, Enclosure & Frost Blanket	1	EA	\$3,980.20	\$3,980.20
21	Drinking Fountain w/ Pet Bowl, Drain, Sump, Lines, etc.	1	EA	\$9,598.63	\$9,598.63
22	5' Tall Vinyl Chain Link Fencing	126	LF	\$74.99	\$9,448.74
23	5' Tall Galvanized Chain Link Fencing	574	LF	\$40.38	\$23,178.12
24	5' Tall Chain Link Service Gates	1	EA	\$1,038.31	\$1,038.31
25	4' Tall Galvanized Removable Chain Link Fencing	130	LF	\$103.83	\$13,497.90
26	4' Tall Galv. Removable Chain Link Service Gates	1	EA	\$922.95	\$922.95
27	5' Tall Custom Pedestrian Entry Gate with Doghouse	1	EA	\$3,461.05	\$3,461.05
28	5' Tall Vinyl Chain Link Pedestrian Gates	3	EA	\$2,768.84	\$8,306.52
29	Custom Corten Steek Entrance Sign	1	EA	\$11,336.72	\$11,336.72
30	Park Rules Sign	1	EA	\$1,587.41	\$1,587.41
31	Bulletin Board	1	EA	\$2,445.95	\$2,445.95
32	Benches - Dog Bone Shape	5	EA	\$1,606.43	\$8,032.15
-	Trash Receptacle	2	EA	\$1,251.30	\$2,502.60
34	Pet Waste Station	5	EA	\$473.92	\$2,369.60
35	Light Relocation	1	EA	\$3,922.52	\$3,922.52
36	15 Gallon Tree	10	EA	\$207.66	\$2,076.60
-	1 Gallon Shrubs/Groundcovers	194	EA	\$8.21	\$1,592.74
38	3" Layer Decorative Bark & Pre- Emergent Herbicide	2,705	SF	\$0.73	\$1,974.65
39	Sod Turf Repair	1	LS	\$1,436.33	\$1,436.33
JATC	. BASE BID ITEMS 1 - 39				\$231,341.92

	ALTERI	NATE BID ITE	EM 1		
NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	Golf Entrance Sign Footing & Installation	1	LS	\$12,127.83	\$12,127.83
Contain the State of the Local	ADDITIVE BID ITEMS ALTERNATE 1				\$12,127.83
TOTAL	BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 1				\$243,469.75

	ALTE	RNATE BID ITE	M 2		
NO.	ITEM DESCRIPTION	BID	UNIT	UNIT	TOTAL
	Sandblast and Stained Paw Prints in Concrete	13	EA	\$193.55	\$2,516.15
TOTAL	L ADDITIVE BID ITEMS ALTERNATE 1 and BID ITEMS /	ALTERNATE 2			\$14,643.98
TOTAL	L BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 1 and 2				\$245,985.90

	AL1	TERNATE BID ITE	EM 3		
NO.	ITEM DESCRIPTION	BID	UNIT	UNIT	TOTAL
3 Dog Agility		1	LS	\$8,063.33	\$8,063.33
	BID ITEMS ALTERNATE 1,2 and 3				\$22,707.31
TOTAL BID ITEM	S 1 - 39 AND ALTERNATE BID ITEM 3				\$254,049.23

MANTECA DOG PARK & GOLF COURSE ENTRY SIGN PROJECT

Engineers Estimate \$215,000.00 July 14, 2016

				Name and Address of the Owner, where	AND DESCRIPTION OF THE PARTY OF	STATE OF THE PERSON	Delated commission of the commission	The state of the s
ODYS:	SEY	LA	ND	SCA	PING	_ L	ODI.	CA.

TEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	Mobilization, Submittals, Bonds, Licenses, Permits, etc	1	LS	\$3,000.00	\$3,000.00
2	Erosion Control	1	LS	\$4,500.00	\$4,500.00
3	Surveying & Construction Staking	1	LS	\$1,640.00	\$1,640.00
4	Clearing & Grubbing - Planter area	2,705	SF	\$1.26	\$3,408.30
5	Soil prep, Amendments & Grading - Planter area	2,705	SF	\$0.75	\$2,028.75
6	Natural Grey, Broom Finish Concrete Flatwork	4,810	SF	\$9.78	\$47,041.80
7	Yellow Truncated Domes	4	EA	\$632.50	\$2,530.00
8	Accessible Ramp - Eucalyptus St.	1	EA	\$2,530.00	\$2,530.00
9	Accessible Ramp - Parking Lot	1	EA	\$2,530.00	\$2,530.00
10	Accessible Striping, Curb Paint & Signage	1	LS	\$2,875.00	\$2,875.00
11	Concrete Wheel Stops	2	EA	\$225.00	\$450.00
12	Asphalt Patching & Repair	1	LS	\$1,215.00	\$1,215.00
13	Brick Pavers	30	SF	\$32.57	\$977.10
14	12" Wide Concrete Mow Strip	570	LF	\$28.75	\$16,387.50
15	6" Wide Concrete Mow Strip	110	LS	\$23.00	\$2,530.00
16	4" - 8" Cobble Rock	460	SF	\$7.11	\$3,270.60
17	Landscape Irrigation & Valve in Planter Area, QC & Lines	1	LS	\$8,625.00	\$8,625.00
18	Water Connections at Existing Backflow	1	EA	\$475.00	\$475.00
19	3/4" Backflow, Pad, Enclosure & Frost Blanket	1	EA	\$2,740.00	\$2,740.00
20	1" Backflow, Pad, Enclosure & Frost Blanket	1	EA	\$2,830.00	\$2,830.00
21	Drinking Fountain w/ Pet Bowl, Drain, Sump, Lines, etc.	1	EA	\$16,285.00	\$16,285.00
22	5' Tall Vinyl Chain Link Fencing	126	LF	\$74.75	\$9,418.50
23	5' Tall Galvanized Chain Link Fencing	574	LF	\$40.25	\$23,103.50
24	5' Tall Chain Link Service Gates	1	EA	\$1,035.00	\$1,035.00
25	4' Tall Galvanized Removable Chain Link Fencing	130	LF	\$103.50	\$13,455.00
26	4' Tall Galv. Removable Chain Link Service Gates	1	EA	\$920.00	\$920.00
27	5' Tall Custom Pedestrian Entry Gate with Doghouse	1	EA	\$3,450.00	\$3,450.00
28	5' Tall Vinyl Chain Link Pedestrian Gates	3	EA	\$2,670.00	\$8,010.00
29	Custom Corten Steek Entrance Sign	1	EA	\$24,700.00	\$24,700.00
30	Park Rules Sign	1	EA	\$1,752.00	\$1,752.00
31	Bulletin Board	1	EA	\$2,210.00	\$2,210.00
32	Benches - Dog Bone Shape	5	EA	\$1,853.00	\$9,265.00
33	Trash Receptacle	2	EA	\$1,475.00	\$2,950.00
34	Pet Waste Station	5	EA	\$852.00	\$4,260.00
35	Light Relocation	1	EA	\$1,450.00	\$1,450.00
	15 Gallon Tree	10	EA	\$335.00	\$3,350.00
	1 Gallon Shrubs/Groundcovers	194	EA	\$13.45	\$2,609.30
38	3" Layer Decorative Bark & Pre- Emergent Herbicide	2,705	SF	\$0.75	\$2,028.75
Name and Address of the Owner, where	Sod Turf Repair	1	LS	\$1,975.00	\$1,975.00
OTAL	BASE BID ITEMS 1 - 39				\$243,811,10

	ALTER	NATE BID ITE	EM 1		
NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	Golf Entrance Sign Footing & Installation	1	LS	\$8,300.00	\$8,300.00
-	ADDITIVE BID ITEMS ALTERNATE 1				\$8,300.00
TOTAL	BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 1				\$252,111,10

	ALTE	RNATE BID IT	EM 2		
TEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT	TOTAL
and the same of th	Sandblast and Stained Paw Prints in Concrete	13	EA	\$1,207.50	\$15,697.50
OTAL ADDITIVE BID ITEMS ALTERNATE 1 and BID ITEMS ALTERNATE 2					\$23,997.50
TOTAL	OTAL BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 1 and 2				

	ALT	ERNATE BID ITE	EM 3		
NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT	TOTAL
The same of the sa	Agility Items	1	LS	\$10,135.00	\$10,135.00
OTAL ADDITIVE BID ITEMS ALTERNATE 1,2 and 3					\$34,132.50
OTAL BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 3				\$277.943.60	

MANTECA DOG PARK & GOLF COURSE ENTRY SIGN PROJECT

Engineers Estimate \$215,000.00

July 14, 2016

TAYLOR BACKHOE - MERCED. CA.

TEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	Mobilization, Submittals, Bonds, Licenses, Permits, etc	1	LS	\$7,605.00	\$7,605.00
2	Erosion Control	1	LS	\$2,289.00	\$2,289.00
3	Surveying & Construction Staking	1	LS	\$3,042.00	\$3,042.00
4	Clearing & Grubbing - Planter area	2,705	SF	\$3.00	\$8,115.00
5	Soil prep, Amendments & Grading - Planter area	2,705	SF	\$1.00	\$2,705.00
6	Natural Grey, Broom Finish Concrete Flatwork	4,810	SF	\$9.00	\$43,290.00
7	Yellow Truncated Domes	4	EA	\$316.00	\$1,264.00
8	Accessible Ramp - Eucalyptus St.	1	EA	\$5,265.00	\$5,265.00
9	Accessible Ramp - Parking Lot	1	EA	\$5,265.00	\$5,265.00
10	Accessible Striping, Curb Paint & Signage	1	LS	\$2,896.00	\$2,896.00
11	Concrete Wheel Stops	2	EA	\$293.00	\$586.00
12	Asphalt Patching & Repair	1	LS	\$3,510.00	\$3,510.00
13	Brick Pavers	30	SF	\$27.00	\$810.00
14	12" Wide Concrete Mow Strip	570	LF	\$37.00	\$21,090.00
15	6" Wide Concrete Mow Strip	110	LS	\$97.00	\$10,670.00
16	4" - 8" Cobble Rock	460	SF	\$7.00	\$3,220.00
17	Landscape Irrigation & Valve in Planter Area, QC & Lines	1	LS	\$7,254.00	\$7,254.00
18	Water Connections at Existing Backflow	1	EA	\$2,101.00	\$2,101.00
19	3/4" Backflow, Pad, Enclosure & Frost Blanket	1	EA	\$2,883.00	\$2,883.00
20	1" Backflow, Pad, Enclosure & Frost Blanket	1	EA	\$5,481.00	\$5,481.00
21	Drinking Fountain w/ Pet Bowl, Drain, Sump, Lines, etc.	1	EA	\$8,510.00	\$8,510.00
22	5' Tall Vinyl Chain Link Fencing	126	LF	\$115.00	\$14,490.00
23	5' Tall Galvanized Chain Link Fencing	574	LF	\$47.00	\$26,978.00
24	5' Tall Chain Link Service Gates	1	EA	\$1,755.00	\$1,755.00
25	4' Tall Galvanized Removable Chain Link Fencing	130	LF	\$114.00	\$14,820.00
26	4' Tall Galv. Removable Chain Link Service Gates	1	EA	\$1,755.00	\$1,755.00
27	5' Tall Custom Pedestrian Entry Gate with Doghouse	1	EA	\$4,095.00	\$4,095.00
28	5' Tall Vinyl Chain Link Pedestrian Gates	3	EA	\$878.00	\$2,634.00
29	Custom Corten Steek Entrance Sign	1	EA	\$9,945.00	\$9,945.00
30	Park Rules Sign	1	EA	\$1,795.00	\$1,795.00
31	Bulletin Board	1	EA	\$2,123.00	\$2,123.00
32	Benches - Dog Bone Shape	5	EA	\$1,051.00	\$5,255.00
33	Trash Receptacle	2	EA	\$1,543.00	\$3,086.00
34	Pet Waste Station	5	EA	\$820.00	\$4,100.00
35	Light Relocation	1	EA	\$3,978.00	\$3,978.00
36	15 Gallon Tree	10	EA	\$234.00	\$2,340.00
37	1 Gallon Shrubs/Groundcovers	194	EA	\$5.00	\$970.00
38	3" Layer Decorative Bark & Pre- Emergent Herbicide	2,705	SF	\$1.00	\$2,705.00
39	Sod Turf Repair	1	LS	\$3,861.00	\$3,861.00
OTA	BASE BID ITEMS 1 - 39			7-7-211-04	\$254.536.00

ALTERNATE BID ITEM 1						
NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST	
1	Golf Entrance Sign Footing & Installation	1	LS	\$9,945.00	\$9,945.00	
TOTAL	OTAL ADDITIVE BID ITEMS ALTERNATE 1					
TOTAL	OTAL BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 1					

ALTERNATE BID ITEM 2					
NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT	TOTAL COST
2	Sandblast and Stained Paw Prints in Concrete	13	EA	\$405.00	\$5,265.00
TOTAL ADDITIVE BID ITEMS ALTERNATE 1 and BID ITEMS ALTERNATE 2					\$15,210.00
TOTAL BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 1 and 2					\$269,746,00

ALTERNATE BID ITEM 3					
NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
3 Dog Ag	ility Items	1	LS	\$8,766.00	\$8,766.00
OTAL ADDITIVE BID ITEMS ALTERNATE 1,2 and 3					\$23,976.00
TOTAL BID ITEMS 1 - 39 AND ALTERNATE BID ITEM 3					\$278.512.00